=1 g o] oy el -"
%II- — —|I-=| e Z
1. o& 582 A2 6. oA (z—2)(z+k)=2+ar+b ¥ T, 2a+b 9
27
@ 2r+3)2=422+9
2 —4 —6 8 10
@ 3-2)2=9—6x—2? v ® © @ ©
® (4z—y)(dx +y) = 42° —
@ (z+1)(z+2) =22 +22x+2
7. UE T B> A0
® (z+2y)(z — 3y) = 2% — 2y — 69>
D (a—b)2 = (b—a)?
@ (—a+b)(a+b)=a®>—b?
2. (20 +0)2 =422 4+ Oz + 25 oA O] gure £2 ® (-a—10)?=—(a+b)?

AR AH?

@D 5, 10 @ +5, £20 @ -5, —10

@ 5, 20 ® 5, £20

3. (22+5)(3z—2) =622 +azx+b < W, a+b 2] F2?

D1 @ 10 ® 11 @ 15 ® 21
1 101 O X [©)
4. x=§,y=—§ EHH,E}—K—./‘(a:—&—y)(x—y)J
A2
1 1
Do ®% @—%
5 5
® % © -3

5. (z+A)(z+B)E
=%

%)

@ (2a+2b)? = 2(a + b)?

® (2a — 3b)? = 4a? — 9b?

8. ax

b= (a+b)? 22 AT W, 2z % (—y) +x*2y &
et

Aol A oy 9 A2 Fotofet.

S

9. (Ar-3)4x+B)=0Cz*+22x-2149 W, A+ B+C
9] = szt

10. oh3 A& NS o, & o] A7 7P 2 227

@ 3z +1)2 @ 3z —1)?

® (3z—1)(z —3) @ 3z +1)(x+3)

® Br+1)3zr—1)




11. o2 5 o&

A2 uleA] AR 2L

O (—z+2)(—z—-2)=—2>—-14
@ (—z+y)* =2 —2zy —y?
® (3z — 5y)% = 922 — 2532

@ (z+2y)(z—2y) =2%—4

© (z+y)z+y+2)=a+2ay+y*+22+2

12. 4] 2429 Aol 242k w4 1,2 + 1,20 -
WA oIS hehdl 427

123
@ 162248z —2 @ 1622+ 8z +2
® 1622 — 12z +4 @ 1622+ 12z —4

® 1622 -8z +38

13. 2z—1)(z+2)— (z+1)(—z+1)—

ShH?

® 2?+ 3z -1 @ 322 —22+5
® 2z @ 222 —x—7
® —2? -4

15. 2(4z+ay)(bx+y) = 242% —cay—6y*> € W, a+b+c
o] 27
®-9 @-3 ®0

@ 5 ® 10

16. (2a—1)(2a+1)—3(a—2)(a—3)—
el & o, dxpge] AeE

\_/

(a—4) 2 A5}
afolat,

17. (2= V3) (2 + V3)° & Antetal?

@ -1 ®0 @1

18. (2+2— V) + 2+ V) & AR o o ] A9}

ol

19. b2 5 934 Br+2)(4e — 1) —
{7

@ 1122 +4 @ 822 +3x—6

® 1122 +32-38 @ 822 —11

® 1122 +6




25. (z -+ D@2+ D@+ 1)@@8+1) =22+b ¥
o, &4 a, b ol Histe] a —b o] g F5thofet,

@ 422 + 142y +20y2 @ 422 + 102y + 1292
@ 2%+ 23zy — 1232 @ 2%+ 302y — 1292

® 1422 + 8y + 20y>

2Lay=z+y LW, (- 1(y—1) o gh& Fsteiet

22, (V3-V2+1)(V3+v2-1) & HeHA?

O V2 @ 2v2 ® 3+2
@ 3+2V2 ® 2-2V3

23. 2-DE+1)2°+1)(2" +1) & F3] 547

@ 63 @ 65 ® 127

@ 129 3 255

24. (z+2y)* — 2z —y)* — (z +2y)(2z — 3y) & AN
ANAM 22 Ol AlFE a, 2y A AFTE b, y? 9 ATE
et &, a+b+c 2 2 F5toiet




